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7
. IR = real numbers

← adjoin i
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9 . ZCi) -- { at bi /

same multiplication as Q
.

↳
commutative , with unity .

9¥ . Sps R is a ring .
The polynomialringorerr is

Rex] = { / aiE R }

e. g .
E ZCx]

.

Ring operations : polynomial addition and multiplication .

e. g . ( t t 2x) t (3×-17×2) =

( H 2x )(3×+7×2 ) =

Note: elements in Rex? are just formal polynomials . Generally , we think
of x as a placeholder that helps us define addition and

multiplication, rather than as a variable to plug into .

a
,
b C- 12

,
i' = - 1$

Got a, X t - - - t an X
"

I t 2x - 9×3

I t 5×+7×2

3×+7×2-1 6×2-114×3
= 3×+13×2 t 14×3



11 . If R
,
and Rz are rings, can form the direct product

R
,
④ Rz .

↳ { Cr
. . rz) I r , e R , ,

r
,
c- Rz}

componentwise operations .


